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F Q3 [20 marks). Write a while loop to produce the following output

@@ @@ @ / sl '
stisle Loz

0w 3
@ @ @ @ Préad ;4‘«'[
@ @ @ A Rl
@ @

@

Q4 [20 marks). What is the output of the following program?

CAlCmfade (104, 2,4)
1 zat” %7.(. + '-f/'_f"ﬂ:
AZR747 2 + g4
) -: ‘,: o

def calculate(a, b, c, d):
x=a%b*c+9/4-d
print x

calculate (2, 4, 2, 9)
calculate (10, 4, 3, 5)

20
Calcimdadde (10, <H 3, ]:'_I

T
A" S I e V¥ e

o L)

i

X = &

I am Sorry 1111
4|pPage

Scanned by CamScanner



" Q2[20 marks]. Write a p_;eg_do code which moves a robot from the left figure to the right

figure.

y & Input data file: “harvest.wld” Output of program running
]
. &
B 1 £a 3 1 h'._ -
i il B
7
3
s 1 1 1 1 1 1 ; o o e -
S N 1 1 2 1 1 1 : . _ - - =—=___J
4 { 3 1 5 1 1 1 1 A —_— - — -
3 1 1 1 i 1 3 ’7]— - — =
2 "__1 Th 4 2 = - - a4 ' -
1 !] 2 ‘1 a3 1 1 10 | 4 k —— S —
1 2 3 4 LY L] T "
1 2 a 4 5 & 7 a o 10

e+ ittt ().

def [k !:o«;"c;/‘ar' C).
Wi € n0Lahn. front. Ci- cleare):
h- {ﬁ;(,'{, B A Cf.'{--’f_’l'_ ( )
h- movet)
é‘-";’f I }:FT il/-t', l:r. (_,{(;iu_.l. 'q
. Ao v C_
elfe |
h. twrn_ lefTC)

_ oo ve)
Zé CRif T
def mc), .
Or v LN VAfE(2). )
while wot b fmit. LS tleartcy.
h pocl_ .LJC-C’.’)-:_". v )
‘?(‘:f : Fevnd_ 4. leav),
h-proVe ()
£ L(_d: e
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/ T (S ARY ¢\ ] I\h{'[" l*"-‘,‘fl-! X

Load w1 Ill'*"!iidl}f-t.'ft._'f tulcl”_) b [. fuwin_Jeft C)

- .L:"'- 1-“[. o )
M- AobLiud for T o Vanfe (€).

kst fomce (hed ') ! e )
h-Jer. pare o) W i Tedt0)
Cf.; S ‘{hl'.-\ L3 ' ot A1 4 P le Tt ¢)
— 4 v
) N [\ rv‘\bU('_(.\
{- Cq \ L In I...k-\..{ { | 'l)l_ t\ UMQVL'( \
Wodias Le Lo h. w~oVe()
F’Of’ L _L\t-it\f"t(;‘_’.)_ _
5 [

4 not o frml_ S - Clewrd)
e pyck {—\(‘»i;"t'r‘ ()
ey Fyond_ Tu cleas ()
I . MOoVe ()

elle-

\ h. tufe. left o
!
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{
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F Q3 [20 marks). Write a while loop to produce the following output

@@ @@ @ / sl '
stisle Loz

0w 3
@ @ @ @ Préad ;4‘«'[
@ @ @ A Rl
@ @

@

Q4 [20 marks). What is the output of the following program?

CAlCmfade (104, 2,4)
1 zat” %7.(. + '-f/'_f"ﬂ:
AZR747 2 + g4
) -: ‘,: o

def calculate(a, b, c, d):
x=a%b*c+9/4-d
print x

calculate (2, 4, 2, 9)
calculate (10, 4, 3, 5)

20
Calcimdadde (10, <H 3, ]:'_I

T
A" S I e V¥ e

o L)

i

X = &

I am Sorry 1111
4|pPage
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" Q2[20 marks]. Write a p_;eg_do code which moves a robot from the left figure to the right

figure.

y & Input data file: “harvest.wld” Output of program running
]
. &
B 1 £a 3 1 h'._ -
i il B
7
3
s 1 1 1 1 1 1 ; o o e -
S N 1 1 2 1 1 1 : . _ - - =—=___J
4 { 3 1 5 1 1 1 1 A —_— - — -
3 1 1 1 i 1 3 ’7]— - — =
2 "__1 Th 4 2 = - - a4 ' -
1 !] 2 ‘1 a3 1 1 10 | 4 k —— S —
1 2 3 4 LY L] T "
1 2 a 4 5 & 7 a o 10

e+ ittt ().

def [k !:o«;"c;/‘ar' C).
Wi € n0Lahn. front. Ci- cleare):
h- {ﬁ;(,'{, B A Cf.'{--’f_’l'_ ( )
h- movet)
é‘-";’f I }:FT il/-t', l:r. (_,{(;iu_.l. 'q
. Ao v C_
elfe |
h. twrn_ lefTC)

_ oo ve)
Zé CRif T
def mc), .
Or v LN VAfE(2). )
while wot b fmit. LS tleartcy.
h pocl_ .LJC-C’.’)-:_". v )
‘?(‘:f : Fevnd_ 4. leav),
h-proVe ()
£ L(_d: e
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from es1robots import *
Create_world()

hubo=R0bot(avenue:2,street:B,beepers:do,

orientation="N")
hubo.set_trace("red")

hubo.set_pause(.B)
def turn_right():
forjin range (3):

hubo.turn__lel‘t()

def drop_move():

while not hubo.on__beeper():

foriin range(6):
hubo.drop_beeper(}
hubo.move()
turn_right()
hubo.move()
turn_right()
drop_move()

i bt Woay T

10
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/ T (S ARY ¢\ ] I\h{'[" l*"-‘,‘fl-! X

Load w1 Ill'*"!iidl}f-t.'ft._'f tulcl”_) b [. fuwin_Jeft C)

- .L:"'- 1-“[. o )
M- AobLiud for T o Vanfe (€).

kst fomce (hed ') ! e )
h-Jer. pare o) W i Tedt0)
Cf.; S ‘{hl'.-\ L3 ' ot A1 4 P le Tt ¢)
— 4 v
) N [\ rv‘\bU('_(.\
{- Cq \ L In I...k-\..{ { | 'l)l_ t\ UMQVL'( \
Wodias Le Lo h. w~oVe()
F’Of’ L _L\t-it\f"t(;‘_’.)_ _
5 [

4 not o frml_ S - Clewrd)
e pyck {—\(‘»i;"t'r‘ ()
ey Fyond_ Tu cleas ()
I . MOoVe ()

elle-

\ h. tufe. left o
!
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) Given the world in the left side,

__

-

@ :
T 3\ 4
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Tapeduction o LompHs Md- e as0sEc

(20 pts) Write the output of the following cod= on the world figure given next to this code.

E Robot World (B! 215} - o
from cs1robots import *
create_world() N
abc=Robot(beepers=50) : i
while not abc.on_beeper(): .
for i in range(5): ¢
abc.drop_beeper() :
abc.move() :
abc.turn_left() . !
il 4

{figure> the world figure

2. (20 pts) The input data is as the figure in the left figure. Write pseudo codes or Python
program which make the robot move as the following right figure after the program is executed.

IO ONONO RO, ¢ b 4
O OO OO) 5
(ONGNONONONO] QN =
® oo of V-
00 00 2 d - ]
L[ @ OO 1
12 3 4 5 & 1 '
<starting of a robot> < end of a robot movements>
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clements. Write th
smaller number of rows)

ython progra

llowing P
e a::'vter:eiljothe box. (Hint the final <O
from cs1robots import
create__world()
hubo=Robot0
hubo.set__trace("blue")
hubo.set_pause(O.Z)
hubo.move(
hubo.move()

hubo.turn_leftQ
hubo.move()
hubo.move()
hubo.turn_left(
hubo.move()
hubo.move()
hubo.turn_leftQ
hubo.turn_left()
hubo.turn_left)
hubo.move()
hubo.turn_left()
hubo.turn_leftQ
hubo.turn_left()
hubo.move()
hubo.move()
hubo.turn_left)
hubo.move()
hubo.move()

hubo.turn_left()
hubo.move()

hubo.move()

m code, by moditying it using possible preo

de will have t

Robol world (2w TB)
%l

il

L]

he same purpose as the original \;:\\
Y

—oER

____...--—"'""-_-
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1 2 k] “ 5 L] ? i 9

0

1 1 2 4

Write a program that makes the robot to climb and collect al|

beepers ang keep them at i
position (10,5) finally the robot returns back to its initial position(1,1 |

_ . i
) as shown in the right.
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- IndreAucAdT ot
(20 pts) Write the output of the following cod? on :h
from cs1robots import * rw
create_world( '
abc=Robot(beepers=50) ‘
while not abc.on_beeper(): :
for i in range(5): 5
' abc.drop_beeper() ‘
abc.move() i,
abc.turn_left( j

2. (20 pts) The input data is as the figure in thz left fi
program which make the robot move as the following right

Scanned by CamScanner
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e —— e e . o Group..—

3. write
te a program that check if a number is odd or even using function
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1 - . s ” X __’-‘—""-
» S  mmm——

- -

,#

— = - r MG'DU"‘L

Lma Science and Technology University

schoo! of Electrical Engineering and COmputf'ng /_
computer Science and Engineering Program-Csg //
Computational Thinking Quiz One el ///
r
-~

m;rf""'mn :
1. Answer the following questions clearly and neatly.

5. use function, conditional, and or loop when necessary”

3. Use meaningful variable and function naming &

1. Write a program to create a world of default size which i 10x10
a

s show
World before the program executes " below

World after the program execytes
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!

1. Writ dth of
© @ Def function by the name triengle_area which accepts height and width © '.

triangi . nd
gle as arguments from the caller and return area of triangle to the caller a 'L

di i :
Isplay it. Read height and width of the triangle from the keyboard. |
Hint: area=1/2(height * width)

2. Write the output of the following code on the world figure given next to this
code.

from ¢slrobots import *

Create_world()
hubozRobot{.wenue:2,street=3.beepers=SOJ
hu bo.set__trace[ “blue”)
while not hubo.on_beeper|():

foriin range(4):

hubc.dron_beeper()

hubo.move()

nuba.move() | ‘ !
hubo.turn_lefi()
3. The input data is as in the left figure. Write pseudo codes and python program which

make the robot move as the following right figure after the program is executed.

CD @ @ C‘:) <.D 6 ! \
@ D @D D D s (e
O @ @O o O o 4 (=
o oo o =]
@ © © © © 2
! @ OO IO O] 1 :
1 2 3 4 s [ T

Show the position of the robot where

hubo=Robot(avenue=6,street=7 ,orientation="W"
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from cslrobors import *
load_world("Gebetal awid"™)
h=l(ubn!(hcepcrs2J,nvcuuc:lsl.rt.‘cl::_‘” \
h.set_lracu(“bluc")
h.scrkp:nnaf:(ﬂz)
def turn(n):
for i in range(n):
h.rurn__lut’:()
def play():
if h.righ[fis_clcnro:
turn(3)
hJTlO\:CO
elif h.fronr__is__dear():
h.move *
elif h.lcft__isﬁclearo; ¢
furn(1)
h.move()

else:

turn(2) ,
h'd-rOP__bEEpetO | '

h.movco

while h.carries_beepers()'
la -

Questions:

Standing point : Orientation:
—_—

@ (5) What will be the Coordinate and Orientation of the robot if the number of beepers that the robot
carries was initially 5 ?

Standing point : Orientation:

3. (15) Wwrite the output of the following code on the world figu

re given next to this code.

from cslrobots import *

[Type text] ;
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Create_world()

abc=Robot(avenue=3,stteet=3.beepers=50)

while not abc.onﬁbeepero:

foriin range(7):
abc.drop_beeper()
abc.mcve()

abe.turn_left()

<figure> the world figure

4.(25) Convert the following code for - loop statement using while - statement.
And what will be the output of the following program codes:

For i in range(7):
print  "* %

SRR

S

=

m) that solves the following problem

: ith ) _
5. (25) Write a pseudo code e he beepers and return back to its starting point n the worlc

Problem: help hobo collect t
shown bellow

ﬂ’%;z

[Type text]
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ha
x. gOrean TheOrem A
t Out th and (%2, ¥2) 35 ‘@ find the distance between

r

S i . .
where MPUt point data. Compute the di
» distance—
a, (10) Writ Ce=JGz D (yz- 1)

a
b, Pseydq
5) iy €008 1o solve ths
© Python Progra Problem?

(Hint- m th e (34
"Nt use function) 3t generate the distance given two POI"

"Gebetalwld” anc %
2. (25) Output Question: Consider the following python code and the world "Gebe

answer the questions that follow:

/’M

[Type text]
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onsider the following Python code

C
ons that follow. S

" (20 Pts) Output Question:
JQJ?(?}E.]'W'd" and answer the qUeStl

trom cslrobots import ]
fod_world("Gebetal wld")
I . Robo'-(bel‘Pers =3 avenue=2,8Uc¢
}:.sct__tracc("blucu)
.se,
d —Pause(p, 2)

Of i in range(2):
l'l.tum__lcfto
def playo:
if h.right_jis_clear():
turn_right()
h.move()
clif h.front_is_clear():
h.move()
elif h.lefr_is_clear(): : _ . : I I I
h.tumn_left() D2 i : . :
h.move() :
else:
turn_around()
h.drop_beeper()

=
L]
]

s s
-
—]

PRSI
)

h.move()
while b.carries_beepers():

PplayQ

Questions:

@ (10 pts) How many times does the play() function gets called in the program’s

lifecycle?

Support your answer with justification:

@ (10 pts) When the program stops from running, what will be the standing point

coordinate[wrltten as (avenue,street)] and the orientation [face direction written as
'N','S'W', or 'E' ] of the robot?

Orientation:

Standing point :
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: at there is a IISt Whlch contams the 1d number.
'ro'f four students The program uses a dictionary, where the key sithe Do
" student and value is a list containing the mid and final result of student, ‘lik

this { “R/1212/09”: [ 35, 40],"R/1213/09”: [25, 45], 3.

1 -

m Mid exam | Final “Total 7/

) ) | (40%) exam :
. (60%) n
R/212/09 | 35. 40 Kl
R/1213/09 | 25 C 45 v

. . ‘\’-: e
{ - \ R/1214/09 (34 = |34 -
\ \ ! = T

A.) Calculate the total marks of each student and append them to your original g
lists insidesthe dictionary:
Similar to  {“R/1212/09”: [35, 40, 75], "R/1213/09”: [25, 45, 65],...}

B.) Write a python program that print top 2 students (id and total) based oﬁ'total

| C.) Print the dictionary in the following format
‘ Grade distribution
Id mid exam final exam total

L

J" - 5.) Write a python program count all words in word.txt longer than 6 letters print

these words and the number of such words.
Note: assume you have word.txt file in your disk
6.) Write a python program th@e word “me” at the second index and

:appenﬁ mess” jn the folIowmg list

]letl—[“take” “out” “from”]
e e

Lrsda - insert (2 Cu ")
L «iﬂfha—PWC”I‘Wf ”)

- T —e
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|

1.) Use the dictionary eng2sp = g Lw/ :'dos’
1dent1fy true and false expressions and give reason for
len(er_nngp) is.3 “Tvust -
B. 'one'ineng2sp  Truw~
C.'uno‘ineng2sp ot $<
D. print eng2spl’ four'] o€ el fe
2.) What is the output of the following python program? write the output in the
space provided

defsum(a,y,b=4,c=5):

total=x *y * z

print total

sum(11,22)
um(11,22,30)

' 3.) What is the o utput of the followmg python program? write the output in the

space prov1ded
x—[2;03l3g1__] —T =
sume) (30,9
forimx- y : C2o, = 3033
lsum+’11$;;», Duf;z‘h J20, 7 66 3]
Blil}l_sum;\ ﬁﬂo&"ﬁ = ?;s,) - —gj-%
print x[2:4] &2 /o] 2°"
printy. AAF : :
x[1:3117,66] e
prlntx
prmt30mx .
S
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' i am?
(H?What is the output of the following progr

a=[1,23412]

b=[1,2 3,41,2]

c=(‘sagni','Abebe','chaitu

names=[]

names.append(c)
=names

print (d == names)

names.append('Nathan')

print (@==b,a is b)

print (d is names, names==d)

‘'lemlem’)

2) What is the output of the following function?

def Run():
a=[3,7]
foriin range(3):
a.append(a[-2]+i)
afi] = a[i+1]
print af1:-1]
Run()

% &)
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Adama Sciék

School of Electrical Engineerin g
d Engineering Progr

g all 'b‘—‘ Cc D]

Computer Science an
CSE1011 Quiz 2

Semester I, 201 6/17

_Name: Tala  Atured
ID: Al Yuproed | Maximum mark 152

Group: &é

1. Write the output of the following python programs on the space provided.

a) What will be the final value of b after the loop?

b=5 .
forain range(1, 10 3):
ifa%5==g: = |
el C1b102)
glse:
b+=3
printb

G. ] .

deffuni(a, b):
list1 = [a, ]
0T X in range(4): | (3,29

list1.a :
retuirn Iiﬁtge ndf fun2(iist1) )
GeT fung(y):
W g 4y,
’°.s=f"n1(2,3;1 &&
prfﬂfres
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) Given the world in the left side,

__

-

@ :
T 3\ 4
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) Given the world in the left side,

__

-

@ :
T 3\ 4
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Tapeduction o LompHs Md- e as0sEc

(20 pts) Write the output of the following cod= on the world figure given next to this code.

E Robot World (B! 215} - o
from cs1robots import *
create_world() N
abc=Robot(beepers=50) : i
while not abc.on_beeper(): .
for i in range(5): ¢
abc.drop_beeper() :
abc.move() :
abc.turn_left() . !
il 4

{figure> the world figure

2. (20 pts) The input data is as the figure in the left figure. Write pseudo codes or Python
program which make the robot move as the following right figure after the program is executed.

IO ONONO RO, ¢ b 4
O OO OO) 5
(ONGNONONONO] QN =
® oo of V-
00 00 2 d - ]
L[ @ OO 1
12 3 4 5 & 1 '
<starting of a robot> < end of a robot movements>
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Tapeduction o LompHs Md- e as0sEc

(20 pts) Write the output of the following cod= on the world figure given next to this code.

E Robot World (B! 215} - o
from cs1robots import *
create_world() N
abc=Robot(beepers=50) : i
while not abc.on_beeper(): .
for i in range(5): ¢
abc.drop_beeper() :
abc.move() :
abc.turn_left() . !
il 4

{figure> the world figure

2. (20 pts) The input data is as the figure in the left figure. Write pseudo codes or Python
program which make the robot move as the following right figure after the program is executed.

IO ONONO RO, ¢ b 4
O OO OO) 5
(ONGNONONONO] QN =
® oo of V-
00 00 2 d - ]
L[ @ OO 1
12 3 4 5 & 1 '
<starting of a robot> < end of a robot movements>
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clements. Write th
smaller number of rows)

ython progra

llowing P
e a::'vter:eiljothe box. (Hint the final <O
from cs1robots import
create__world()
hubo=Robot0
hubo.set__trace("blue")
hubo.set_pause(O.Z)
hubo.move(
hubo.move()

hubo.turn_leftQ
hubo.move()
hubo.move()
hubo.turn_left(
hubo.move()
hubo.move()
hubo.turn_leftQ
hubo.turn_left()
hubo.turn_left)
hubo.move()
hubo.turn_left()
hubo.turn_leftQ
hubo.turn_left()
hubo.move()
hubo.move()
hubo.turn_left)
hubo.move()
hubo.move()

hubo.turn_left()
hubo.move()

hubo.move()

m code, by moditying it using possible preo

de will have t

Robol world (2w TB)
%l

il

L]

he same purpose as the original \;:\\
Y

—oER

____...--—"'""-_-
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1 ] 2 "

Write a program that makes the robot to climb and collect alj

L]

be
position (10,5) finally the robot returns back to its initial position(1,1) as shown in the right
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_., /2—-741791/7{’ "__j

- IndreAucAdT ot
(20 pts) Write the output of the following cod? on :h
from cs1robots import * rw
create_world( '
abc=Robot(beepers=50) ‘
while not abc.on_beeper(): :
for i in range(5): 5
' abc.drop_beeper() ‘
abc.move() i,
abc.turn_left( j

2. (20 pts) The input data is as the figure in thz left fi
program which make the robot move as the following right
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3. write
te a program that check if a number is odd or even using function
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Lma Science and Technology University

schoo! of Electrical Engineering and COmputf'ng /_
computer Science and Engineering Program-Csg //
Computational Thinking Quiz One el ///
r
-~

m;rf""'mn :
1. Answer the following questions clearly and neatly.

5. use function, conditional, and or loop when necessary”

3. Use meaningful variable and function naming &

1. Write a program to create a world of default size which i 10x10
a

s show
World before the program executes " below

World after the program execytes
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ea . .
Def function by the name triengle_area which accepts height and width of

tr lI-al"lghl- as a and
s . h r
rguments from the caller and return area of triangle to the calle {

dis i .
Play it. Read height and width of the triangle from the keyboard. |

Hint: area=1/2(height * width) l'

2. i .
Write the output of the following code on the world figure given next to this

code.

from ¢slrobots import * : i

create_world() i

hUb°=R°b0t(¢W‘3nUE:Z,Streetzs,beeperszso)

hu bo.set__trace[ “blue”) :

while not hubo.on_beeper (): °
foriin range(4): | : '.’h}
hubc.dron_beeper() 2 Iﬂ%
hubo.move() 1 . . s : & 7 e 85 10 h
nuba.mova() ' T B B ‘q

hubo.turn_left() |

3. The input data is as in the left figure. Write pseudo codes and python program which

make the robot move as the following right figure after the program is executed.

CD (D @ @ @ 6 ! \
@O D @ O D s =
O @@ O gy c
G D D D 3 O
@ O O© © © 2
Fo o000 :

Show the position of the robot where

hubo=Robot(avenue=6,street=7 ,orientation="W"
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from cslrobors import *
load_world("Gebetal awid"™)
h=l(ubn!(hcepcrs2J,nvcuuc:lsl.rt.‘cl::_‘” \
h.set_lracu(“bluc")
h.scrkp:nnaf:(ﬂz)
def turn(n):
for i in range(n):
h.rurn__lut’:()
def play():
if h.righ[fis_clcnro:
turn(3)
hJTlO\:CO
elif h.fronr__is__dear():
h.move *
elif h.lcft__isﬁclearo; ¢
furn(1)
h.move()

else:

turn(2) ,
h'd-rOP__bEEpetO | '

h.movco

while h.carries_beepers()'
la -

Questions:

Standing point : Orientation:
—_—

@ (5) What will be the Coordinate and Orientation of the robot if the number of beepers that the robot
carries was initially 5 ?

Standing point : Orientation:

3. (15) Wwrite the output of the following code on the world figu

re given next to this code.

from cslrobots import *

[Type text] ;
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Create_world()

abc=Robot(avenue=3,stteet=3.beepers=50)

while not abc.onﬁbeepero:

foriin range(7):
abc.drop_beeper()
abc.mcve()

abe.turn_left()

<figure> the world figure

4.(25) Convert the following code for - loop statement using while - statement.
And what will be the output of the following program codes:

For i in range(7):
print  "* %

SRR

S

=

m) that solves the following problem

: ith ) _
5. (25) Write a pseudo code e he beepers and return back to its starting point n the worlc

Problem: help hobo collect t
shown bellow

ﬂ’%;z

[Type text]
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Yth
Nates ( *9orean T, (A

Orem )
t Out the . 7 ang (%2, ; 10 find the distance between
fstahce as lnpUt POint da

he di
Where, ta. Compute t

dista _
(10) Writg, Nce=/GZ =7 (2= ¥D

a
b Pseudo
- @5 Writ, Code to Solve thig
© Python Progra problem?

(Hint- m th nts (3-4
"Nt use function) 3t generate the distance given two POI"

»Gebetal.wld” anc f
2. (25) Output Question: Consider the following python code and the world Ge /

answer the questions that follow:

//’—M

[Type text]
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onsider the following Python code

C
ons that follow. S

" (20 Pts) Output Question:
JQJ?(?}E.]'W'd" and answer the qUeStl

trom cslrobots import ]
fod_world("Gebetal wld")
I . Robo'-(bel‘Pers =3 avenue=2,8Uc¢
}:.sct__tracc("blucu)
.se,
d —Pause(p, 2)

Of i in range(2):
l'l.tum__lcfto
def playo:
if h.right_jis_clear():
turn_right()
h.move()
clif h.front_is_clear():
h.move()
elif h.lefr_is_clear(): : _ . : I I I
h.tumn_left() D2 i : . :
h.move() :
else:
turn_around()
h.drop_beeper()

=
L]
]

s s
-
—]

PRSI
)

h.move()
while b.carries_beepers():

PplayQ

Questions:

@ (10 pts) How many times does the play() function gets called in the program’s

lifecycle?

Support your answer with justification:

@ (10 pts) When the program stops from running, what will be the standing point

coordinate[wrltten as (avenue,street)] and the orientation [face direction written as
'N','S'W', or 'E' ] of the robot?

Orientation:

Standing point :
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